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Diagraming an Argument

6116 defendant must 00 [0 jai%ecausa }]16 1S guilty of stcaling the 1 ewels.
C Pl

[1] The defendant is guilty
of stealing the jewels.

[C] The defendant must go to jail.
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Diagraming an Argument

Premise

\

[1] The defendant is guilty
of stealing the jewels.

Inference

[C] The defendant must go to jail.

Main Conclusion
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ndependent Premises

—

The defendant signed a confession, thus@le 1S guilty of stcaling the jewe@
] Cl ¢
Furthcrmorc, we know he was present at the scene of the crime.

2

[1] The defendant [2] The defendant was present
signed a confession. at the scene of the crime.

[C] The defendant is guilty of stealing the jewels.
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Independent Premises

An independent premise 1sa premise that does not depend on any
other premises to provide support for its conclusion. So denying or
removing an independent premise does z0r undermine the support

that cthe conclusion may receive from chose other prernises.
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Dependent Premises

JL]BC | ewels were found in the defendant’s pockcts, and §2hcy would only
be there if he stole them. ThCrCfOYC,@lC 1S guilty of stealing the J ewclsj
C

Cl

[1] The jewels were [2] The jewels would only
found in the be in the defendant’s
defendant’s pockets. pockets If he stole them.

[C] The defendant is guilty of stealing the jewels.

Remember: Break apart all conjunctive statements (like that first sentence above) by treating its
conjuncts as separate statements within the argument. This means each conjunct gets its own box

in the diagram. Also, once more, do 70t—1 repeat: do not—break apart disjunctive and hypothetical
statements in a similar fashion.
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Dependent Premises

A dependent premise 1sa premise that does depend on at least one
other premise to provide joint support for its conclusion. So denying
or rernoving a dependent prernise does undermine the support that its

linked premises provides for the conclusion.

Argument Diagrams—Introduction to Logical Reasoning—Professor Gray

II



Chain Arguments

@_hC defendant was pr csent at thC SCCNC Ofth@ Cr im%ecaus@his ﬁﬂg@l’—

C P| ]
prints were on the safe. We know this the forensic IEPOIL 5aYs SO.

T 2

[2] The forensic report says the defendant’s
fingerprints were on the safe.

[1] The defendant’s fingerprints were on the safe.

IC] The defendant was at the scene of the crime.
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Chain Arguments

Premise

B (2] The forensic report says
the defendant’s fingerprints
were on the safe.

Inference

[1] The defendant’s finger-

Sub-Conclusion

prints were on the safe.

Inference

[C] The defendant was at

the scene of the crime.
Main Conclusion
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The Full Argument Diagram

The forensic report says
the defendant’s finger-
prints were on the safe.

The jewels would
only be in the
defendant’s pockets
If he stole them.

The jewels were

The defendant’s finger-
prints were on the safe.

found in the
defendant’s pockets.

The defendant
was at the scene

o The defendant
of the crime. The defendant is guilty signed a confession.
of stealing the jewels.

The defendant must go to jall.
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Analytic Summary

The defendant must 00 O jail because he is guﬂty of stcaling the jewcls.
There are three sets of reasons for this. First of all, the defendant signed
a confession. Second, the jcwels were found in the defendants pockets
and they would only be there if he stole them. Third and ﬁnally, the
forensic [CpOrt says the defendants ﬁngerprints were on the safe, and

s0 his ﬁngerprints must be those on the safe, thus implying that he was
at the scene of the crime.
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Different Inference Patterns

Learn O rccognizc thC diﬂ'ACI’CHCC thWCCI] thCSC thrce patter ns:

Indepcndcnt Dependcnt Argumcnt

Premises Premises Chain

Premise B Premise Premise Premise

Premise/
Sub-Conclusion

Conclusion Conclusion

Conclusion
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Next Class...

We will practice more argument diagramming.

AlSO, PlC&SC dO not fOI’ g@t to turn in YOU.I' I CSPOI]SC o thC Lecture #5

%:Stionnaire on your way out.
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